
Scope of delivery for the Sungrow SBR Battery Accessories: 

Item: Name: Quantity: 

A Base 1 

B Battery module 3 ~ 8 

C Top cover 1  

D Switch gear 1  

E Bracket 1  

F Side cover 3 ~ 8  

G Communication cover 1  

H M5*125 hex socket (option) 1  

I Foot 4 

J M5*14 hex socket screw 7 ~ 18 

K Expansion plug set 2 

L M5 screw sets 3 ~ 6 

M M6 fender washer 2 ~ 4 

N Stud (optional) 1 

O SUNCLIX connector 1 

P OT terminal 1  

Q Documents 1 

  

Note: If the top cover is C1, you will receive M5*125 hex socket screws. 

If the top cover is C2, you will receive stud. 

 


